Cable Bracket bolted with:
M12 x 40 (8.8) for 6 & 8 mm Cable
M16 x 40 (8.8) for 10 & 12 mm Cable

Turnbuckle

Wire Grips LA

Apex Plate

Apex Bracing

Connection

Min 1x Diameter of Rope

6 x Diameter

of Rope T

Cable

Bolted

For 6 & 8 mm Cable

M8 x 40

For 10 & 12 mm Cable
M12 x40

Rafter

Incorrect Method of fitting Wire Rope Grips

ﬁf/L

Normal Diameter
of Rope

Cable Bracket bolted with:
For 6 & 8 mm Cable:

M12 x 40 (8.8)

For 10 & 12 mm Cable:
M16 x 40 (8.8)

Turnbuckle

Column

Cable Grips

Base Plate |
_\ Ly

Cable Bracket bolted with:
For 6 & 8 mm Cable:

M12 x 40 (8.8)

For 10 & 12 mm Cable:
M16 x 40 (8.8)

|~

Top and Base of Column Bracing Connection

Purchaser Name Jody Thompson

Site Address 1046 Ulan Rd Budgee Budgee NSW 2850 Australia

Drawing # TMUD223024 8

Print Date 29/11/22

Connection Details

Not to Scale
Page 10 of 13
© Copyright Steelx P Pty Ltd

Seller THE Shed Company Mudgee
S &K Lincoln Pty Ltd

Phone (02) 6372 7755

Fax (02) 6372 7700

Email mudgeeadmin@theshedcompany com au

Apex Engineering Group PTYLTD

ACN 632 588 562

ME Aust (Registered NER Structural) 5276680

QLD RPEQNo 24223 TAS 185770492 VC PE0003848 NT 303557ES
Practising Professional Structural & Civil Engineers

Signature -

John Ronaldson

Date 29/11/22




Roller Door —

RD Guide Track—l

l

RD Mounting Bracket

B E

RD Jamb—

RD Header —

RD Jamb Top Fixing
Refer to Detail (D4)

Header Fixing Plate

/_Refer to Detail (D2)

RD Jamb Flange level with
outside edge of Eave Purlin

L Roller Door Header

Girt to Jamb Fixing

Bottom of girt equal to nominated door height

Rafter—
Girts

>3.1mor £5.1m

Door Width -100mm

Roller Door

X X
X sk
<]
e

102

Header

=——Sheeting

Roller Door

! ! | Header Flashing
| 1
| I
| I

Header

Rafter

Fixing Angle

Roller Door

Roller Door Header

Refer to Detail (D2) for

connection to RD Jamb

RD Mounting

I Bracket

RD Guide Track

E Wall Girts

RD Jamb Base Plate

Girt Refer to Detail (D3) . Girt
% Numb d
RD Web inside for T RD HIEr an
Jamb RD fixing T ||1ambl|[3P2cnE as per
aml E specification sheet
@]
RD Jamb Base Plate
Refer to Detail (D1)
Girt N Girt
A i (=]
Al Clear Opening Width Ea— =
| I I I N
x
—J% Distance Between Jambs %
Door Width Max Opening
<£3.1m Door Width -50mm

+# 200 #

Fixing Bracket

(Orientation may differ)

RD Jamb

N
X
o
Ny
Trimangle
I
Fixing Angle—/ N
N
Sy
RD Jamb
~J

FIXING SCREWS - 4 of 14.20 x 22 TO JAMB LIPS
X FIXING SCREWS - 7 of 14.20 x 22 X 40f14.20 x 22 TO TRIMANGLE

DETAIL (D4) - RD JAMB TOP FIXING DETAIL (D3) - GIRT FIXING TO RD JAMB

Base Plate—\

Fixing Angle

N

2 of M12 x 75 DYNABOLTS - FOR C150 & C200 JAMBS
2 of M16 x 110 DYNABOLTS - FOR C250 & C300 JAMBS

OFIXING BOLTS - 2 of M12 x 30 - FOR C150 & C200 JAMBS
(O FIXING BOLTS - 2 of M16 x 30 - FOR C250 & C300 JAMBS
X FIXING SCREWS - 2 of 14.20 x 22 X

FIXING SCREWS - 7 of 14.20x 22

DETAIL (D1) - RD JAMB BASE PLATE DETAIL (D2) - RD HEADER FIXING

Purchaser Name Jody Thompson

Site Address 1046 Ulan Rd Budgee Budgee NSW 2850 Australia

Drawing # TMUD223024 8

Print Date 29/11/22

Connection Details

Not to Scale
Page 11 of 13
© Copyright Steelx P Pty Ltd

Seller THE Shed Company Mudgee
S &K Lincoln Pty Ltd

Phone (02) 6372 7755

Fax (02) 6372 7700

Email mudgeeadmin@theshedcompany com au

Apex Engineering Group PTYLTD

ACN 632 588 562

ME Aust (Registered NER Structural) 5276680

QLD RPEQNo 24223 TAS 185770492 VC PE0003848 NT 303557ES
Practising Professional Structural & Civil Engineers

Signature
John Ronaldson

Date 29/11/22




Roller Door —

RD Guide Track—l

l

RD Mounting Bracket

B E

RD Jamb—

RD Jamb Top Fixing
Refer to Detail (D4)

RD Header —

Header Fixing Plate

\Fixing Angle

r Refer to Detail (D2)

Refer to Detail (D7)

=——Dropper

Fixing Angle
Refer to Detail (D6)

RD Jamb Flange level with
outside edge of Eave Purlin

Roller Door Header

Bottom of girt equal to nominated door height

Girt to Jamb Fixing

Rafter—
Girts

>3.1mor £5.1m

Door Width -100mm

Roller Door

Header

=——Sheeting

Roller Door

! ! | Header Flashing
| 1
| I
| I

Header

— —
R S
XX
102
Rafter

Fixing Angle

Roller Door

Roller Door Header

Refer to Detail (D2) for

RD Mounting

I Bracket

RD Guide Track

E Wall Girts

RD Jamb Base Plate

Girt Refer to Detail (D3) . Girt
% Numb d
RD Web inside for T RD HIEr an
Jamb RD fixing T ||1ambl|[3P2cnE as per
aml E specification sheet
@]
RD Jamb Base Plate
Refer to Detail (D1)
Girt N Girt
A i (=]
Al Clear Opening Width =
| I I N
x
—J% Distance Between Jambs %
Door Width Max Opening
<£3.1m Door Width -50mm

+# 200 #

connection to RD Jamb

Fixing Bracket

(Orientation may differ)

RD Jamb

N
X
o
Ny
Trimangle

I

Fixing Angle—/ ™~
N
Sy

RD Jamb
~J
FIXING SCREWS - 4 of 14.20 x 22 TO JAMB LIPS
X FIXING SCREWS - 7 of 14.20 x 22 X 40f14.20 x 22 TO TRIMANGLE

DETAIL (D4) - RD JAMB TOP FIXING

o

DETAIL (D3) - GIRT FIXING TO RD JAMB

Base Plate—\

Fixing Angle

N

2 of M12 x 75 DYNABOLTS - FOR C150 & C200 JAMBS
2 of M16 x 110 DYNABOLTS - FOR C250 & C300 JAMBS

OFIXING BOLTS - 2 of M12 x 30 - FOR C150 & C200 JAMBS
(O FIXING BOLTS - 2 of M16 x 30 - FOR C250 & C300 JAMBS
X

FIXING SCREWS - 2 of 14.20 x 22
DETAIL (D1) - RD JAMB BASE PLATE

X FIXING SCREWS - 7 of 14.20 x 22
DETAIL (D2) - RD HEADER FIXING

Purchaser Name Jody Thompson

Site Address 1046 Ulan Rd Budgee Budgee NSW 2850 Australia

Drawing # TMUD223024 8

Print Date 29/11/22

Connection Details

Not to Scale
Page 12 of 13
© Copyright Steelx P Pty Ltd

Seller THE Shed Company Mudgee
S &K Lincoln Pty Ltd

Phone (02) 6372 7755

Fax (02) 6372 7700

Email mudgeeadmin@theshedcompany com au

Apex Engineering Group PTYLTD

ACN 632 588 562

ME Aust (Registered NER Structural) 5276680

QLD RPEQNo 24223 TAS 185770492 VC PE0003848 NT 303557ES
Practising Professional Structural & Civil Engineers

Signature
John Ronaldson

Date 29/11/22




Roller Door —

RD Guide Track—l

|

RD Mounting Bracket

Er—T

Eave Purlin

(Orientation may differ)
Fixing Angle

Roller Door

Roller Door Header Girt

“J—Refer to Detail (D2) for

Connection to RD Jamb

RD Mounting

Bracket

RD Guide Track

=F

=} Wall Girts

RD Jamb Base Plate

— — T i
RD Jamb— RD Header — Eave F‘urIin—]
__RD Jamb Top Fixing RD Jamb Flange level with
Refer to Detail (D4) outside edge of Eave Purlin
Eave Purlin
(Orientation may differ)
o I
Header Fixing Plate
/_Refer to Detail (D2)
" : Roller Door Header Girt :: : 1
Bottom of girt equal to nominated door height
; Girt to Jamb Fixing :
Girt Refer to Detail (D3) Girt
% Numb d
RD Web inside for K2 RD HTEACE 2
Jamb RD fixing T ||1ambl|[3P2cnE as per
aml E specification sheet
@]
RD Jamb Base Plate
Refer to Detail (D1)
Girt — Girt
2 s (=]
Al Clear Opening Width Ea— =
| I I I N
x
—J% Distance Between Jambs —J’—
Door Width Max Opening
<£3.1m Door Width -50mm

>3.1mor £5.1m Doo

r Width -100mm

+ 200 +#

Eave purlin
tOﬁef-.tatiort may

differ)

Fixing AngleJ

RD Jamb

A

~L
X FIXING SCREWS - 7 of 14.20 x 22 > FIXING SCREWS - 4 of 14.20 x 22
DETAIL (D4) - RD JAMB TOP FIXING DETAIL (D3) - GIRT FIXING TO RD JAMB

o

RD Jamb

Base Plate—\

/4

|
i Fixing Angle
1l
|

/:
—
) e/
Iy I'gjjg‘}f : 7
N

2 of M12 x 75 DYNABOLTS - FOR C150 & C200 JAMBS

2 of M16 x 110 DYNABOLTS - FOR C250 & C300 JAMBS
OFIXING BOLTS - 2 of M12 x 30 - FOR C150 & C200 JAMBS
(O FIXING BOLTS - 2 of M16 x 30 - FOR C250 & C300 JAMBS
X FIXING SCREWS - 2 of 14.20 x 22

DETAIL (D1) - RD JAMB BASE PLATE

> FIXING SCREWS - 4 of 14.20 x 22
DETAIL (D2) - RD HEADER GIRT FIXING

Purchaser Name Jody Thompson

Site Address 1046 Ulan Rd Budgee Budgee NSW 2850 Australia

Drawing # TMUD223024 8

Print Date 29/11/22

Connection Details

Not to Scale
Page 13 of 13
© Copyright Steelx P Pty Ltd

Seller THE Shed Company Mudgee
S &K Lincoln Pty Ltd

Phone (02) 6372 7755

Fax (02) 6372 7700

Email mudgeeadmin@theshedcompany com au

Apex Engineering Group PTYLTD

ACN 632 588 562

ME Aust (Registered NER Structural) 5276680

QLD RPEQNo 24223 TAS 185770492 VC PE0003848 NT 303557ES
Practising Professional Structural & Civil Engineers

Signature
John Ronaldson

Date 29/11/22




Engi ing Group PTYLTD
Purchaser Name Jody Thompson ﬁg?\fe;gg Iggg [r',g% oup
ME Aust (Registered NER Structural) 5276680
QLD RPEQNo 24223 TAS 185770492 VC PE0003848 NT 303557ES

Practising Professional Structural & Civil Engineers
Site Address 1046 Ulan Rd Budgee Budgee NSW 2850 Australia Flashing Fixing Details Seller THE Shed Company Mudgee
S &K Lincoln Pty Ltd
Not to Scale Phone (02) 6372 7755
Page 10f3 Fax (02) 6372 7700
© Copyright Steelx P PtyLtd Email mudgeeadmin@theshedcompany com au
Drawing # TMUD223024 9 Print Date 29/11/22 Signature

John Ronaldson

Date 29/11/22




Engi ing Group PTYLTD
Purchaser Name Jody Thompson ﬁg?\fe;gg Iggg [r',g% oup
ME Aust (Registered NER Structural) 5276680
QLD RPEQNo 24223 TAS 185770492 VC PE0003848 NT 303557ES

Practising Professional Structural & Civil Engineers
Site Address 1046 Ulan Rd Budgee Budgee NSW 2850 Australia Flashing Fixing Details Seller THE Shed Company Mudgee
S &K Lincoln Pty Ltd
Not to Scale Phone (02) 6372 7755
Page 2 of 3 Fax (02) 6372 7700
© Copyright Steelx P PtyLtd Email mudgeeadmin@theshedcompany com au
Drawing # TMUD223024 9 Print Date 29/11/22 Signature

John Ronaldson

Date 29/11/22




Engi ing Group PTYLTD
Purchaser Name Jody Thompson ﬁg?\fe;gg Iggg [r',g% oup
ME Aust (Registered NER Structural) 5276680
QLD RPEQNo 24223 TAS 185770492 VC PE0003848 NT 303557ES

Practising Professional Structural & Civil Engineers
Site Address 1046 Ulan Rd Budgee Budgee NSW 2850 Australia Flashing Fixing Details Seller THE Shed Company Mudgee
S &K Lincoln Pty Ltd
Not to Scale Phone (02) 6372 7755
Page 3 of 3 Fax (02) 6372 7700
© Copyright Steelx P PtyLtd Email mudgeeadmin@theshedcompany com au
Drawing # TMUD223024 9 Print Date 29/11/22 Signature

John Ronaldson

Date 29/11/22




This setout is provided as a guide only. It is the responsibility of the concreter/erector to confirm that all dimensions are correct.

Left Side

@

® ®

' 7.5m f 7.5m * 7.5m

1 7.5m

| 30m

Measurements are from the outside of end girts (end bays) and/or centre of columns (mid bays) to inside of component opening size.

5.2m

Right Side

@

® ®

®

' 7.5m t 7.5m f 7.5m

7.5m

5.2m

JPurchaser Name Jody Thompson
|site Address 1046 Ulan Rd Budgee Budgee NSW 2850 Australia Component Position
Not to Scale
Page 10f2
©Copyright Steelx P PyLtd

|Drawing # TMUD223024 10 Print Date 29/11/22

Seller THE Shed Company Mudgee

S &K Lincoln Pty Ltd

Phone (02) 63727755

Fax (02) 6372 7700

Email mudgeeadmin@theshedcompany com au

ApexEngineering Group PTYLTD
ACN 632 588 562
ME Aust (Registered NER Structural) 5276680

QLD RPEQNo 24223 TAS 185770492 VC PE0003848 NT 303557ES
Practising Professional Structural & Civil Engineers

John Ronaldson
Date 29/11/22




Left End
B ) (W -)i ( Y | Z ( C:"'
Apex Height 7.61m !

4.797m 0.883m 6.5m
I 1 r 1 I |
""""""" 5000m
DOOR A
.82
. 3.106m | , 5.578m , ~ 3.106m
' " 3.105m ' " 3105m ' '
[ 18m |

Measurements are from the outside of side girts to the inside of component opening size.

Right End
| ' Apex Height 7.61m |
4.654m 1.026m 1.305m 1.535 m
I [ I — T ——
S T S om T
DOOR A DOOR B
D.82n]
. 3.106m ; 5.578m T 4.238m . |
' " 3.105m ' 0.727m 1.246m
| 18m |

Measuremenits are from the outside of side girts to the inside of component opening size.

Engi ing G PTYLTD
Purchaser Name Jody Thompson %ﬁ(egggggggg oup
ME Aust (Registered NER Structural) 5276680
QLD RPEQNo 24223 TAS 185770492 VC PE0003848 NT 303557ES

Practising Professional Structural & Civil Engineers

Site Address 1046 Ulan Rd Budgee Budgee NSW 2850 Australia Com ponent Position Seller THE Shed Company Mudgee
S &K Lincoln Pty Ltd
Not to Scale Phone (02) 6372 7755
Page 2 of 2 Fax (02) 6372 7700
© Copyright Steelx P PtyLtd Email mudgeeadmin@theshedcompany com au
Drawing # TMUD223024 10 Print Date 29/11/22 Signature John Ronaldson

Date 29/11/22




ROOF (TOP VIEW) Notes: . .
LEFT SIDE Brackets are not shown. Refer to Specification Details

2XC15012 (PL3)

2XC15012 (PL1) 2XC15012 (PL2)

2XC15012 (PL4) for more information. Opening members not labeled.

Z15012 (DL1) Z15012 (DL2) Z15012 (DL3) Z15012 (DL4)
Z15012 (DL1) Z15012 (DL2) Z15012 (DL3) Z15012 (DL4)
5 2] ) ] )
s Z15012 (DL1) s Z15012 (DL2) s Z15012 (DL3) s Z15012 (DL4) s
0 Y o o 0
= Z15012 (DL1) S Z15012 (DL2) S Z15012 (DL3) S Z15012 (DL4) |
Z15012 (DL1) Z15012 (DL2) Z15012 (DL3) Z15012 (DL4)
Loanto Z15012 (DL1) Z15012 (DL2) Z15012 (DL3) Z15012 (DL4) ' Leanto
Main ¢ $£5615 (RE1) 529015 (RL3) 529015 (RL3) 525024 (RL4) Main
Z15015 (AL1) Z15015 (AL2) Z15015 (AL3) Z15015 (AL4)
Z15015 (AL1) Z15015 (AL2) Z15015 (AL3) Z15015 (AL4)
= Z15015 (AL1) = Z15015 (AL2) = Z15015 (AL3) s Z15015 (AL4) =
Tz z z z ZT
3 Z15019 (AL1) 3 Z15019 (AL2) 3 Z15019 (AL3) 3 Z15019 (AL4) a
=S = = = i =C=s] )
=) 0 0D 0D D 0|
Z 3 3 3 8 3 &
] Z15019 (AL1) Z15019 (AL2) Z15019 (AL3) Z15019 (AL4) -
|_
L T
4 Z15019 (AL1) Z15019 (AL2) Z15019 (AL3) Z15019 (AL4) é—i
Z15015 (AL1) Z15015 (AL2) Z15015 (AL3) Z15015 (AL4)
215012 (AL1) Z15012 (AL2) Z15012 (AL3) Z15012 (AL4)
#15618 (AR1) #15612 (AR2) #15612 (AR3) #15619 (AR4)
215024 (AR1) Z15015 (AR2) Z15015 (AR3) 215024 (AR4)
215024 (AR1) Z15015 (AR2) 215015 (AR3) 215024 (AR4)
= ﬁ‘ ® g )
> Z15024 (AR1) > Z15015 (AR2) > 215015 (AR3) > 215024 (AR4) >
o o o o o
™ ™ ™ ™ ™
2 215024 (AR1) 2 Z15019 (AR2) 2 Z15019 (AR3) 2 Z15024 (AR4) 2
(&) (&) (&) (&) (&)
Z15024 (AR1) Z15019 (AR2) Z15019 (AR3) 215024 (AR4)
Z15024 (AR1) Z15019 (AR2) Z15019 (AR3) 215024 (AR4)
Z15019 (AR1) Z15019 (AR2) Z15019 (AR3) Z15019 (AR4)
I C20019 (PR1) C20019 (PR2) I C20019 (PR3) C20019 (PR4) I
RIGHT SIDE
Revision Date Initial Apex Engineering Group PTY LTD

Purchaser Name: Jody Thompson ) . ACN 632 588 562
Purlin and Girt Plan Seller: THE Shed Company Mudgee MIE Aust. (Registered NER Structural) 5276680

QLD : RPEQ No. 24223; TAS : 185770492; VIC : PE0003848; N.T : 303557ES;

Name: § &K Lincoln Pty Ltd Practising Professional Structural & Civil Engineers

Site Address: 1046 Ulan Rd Budgee Budgee NSW 2850 Australia NOT TO SCALE Phone: (02) 6372 7755

Page 1 of 5 Fax:  (02) 6372 7700

Signature: John Ronaldson

©Copyright Steelx P Pty Ltd Email: mudgeeadmin@theshedcompany.com.fu

Date: 29/11/22

Drawing # TMUD223024 - 11 Print Date:  29/11/2022




LEFT END ELEVATION

Notes:
Brackets are not shown. Refer to Specification Details
for more information. Opening members not labeled.

Z10015 (C1-3)
Z10015 (C1-2) Z10015 (C1-4)
5
L
g N e )
E 710010 (C1-1) —~ Z10015 (C1-2) ; ; Z10015 (C1-4) = Z10010 (C1-5) =
- = < o
- - = = N N = 4
9 = g 2 o g =
N~ < N
X 2| N S S S O S N |8
3 3 3} 0 3} )
S = |® 210010 (C1-1) Z10015 (C1-2) Z10015 (C1-4) Z10010 (C1-5) B
I
n
N~ N
o] Tp]
O e
Z10010 (C1-1) Z10015 (C1-2) Z10015 (C1-4) Z10010 (C1-5)
6000 179/ 18000 179
Revision Date Initial Apex Engineering Group PTY LTD

Purchaser Name: Jody Thompson

Purlin and Girt Plan

Site Address: 1046 Ulan Rd Budgee Budgee NSW 2850 Australia

NOT TO SCALE
Page 2 of 5

Drawing # TMUD223024 - 11 Print Date:  29/11/2022

©Copyright Steelx P Pty Ltd

Seller: THE Shed Company Mudgee
Name: S & K Lincoln Pty Ltd

Phone: (02) 6372 7755

Fax:  (02) 6372 7700

Email: mudgeeadmin@theshedcompany.com..

au

ACN 632 588 562

MIE Aust. (Registered NER Structural) 5276680

QLD : RPEQ No. 24223; TAS : 185770492; VIC : PE0003848; N.T : 303557ES;
Practising Professional Structural & Civil Engineers

Signature: John Ronaldson

Date: 29/11/22




RIGHT END ELEVATION

Notes:
Brackets are not shown. Refer to Specification Details
for more information. Opening members not labeled.

710015 (C5-2)
o
w o L
S 7 § 5 < o)
2 B il $ ] %)
L 210010 (C5-1) — z10015(C5-2) 2 ¢gmo1o ¥C5-4) 710010 (C5-6) e
i = T [T
o 0 = o w
~ © < o o 3 = v ~ |
g & S S S 5§ J S N |8 3
@ 210010 (C5-1) Z10015 (C5-2) 10010 (C5-4) Y 2J0010 f5-65— S
n
5 5
© 2
710010 (C5-1) 710015 (C5-2) 210010 (C5-4) 210010 (C5-6)
I i i i
179- | 18000 179 6000
Revision Date Initial Apex Engineering Group PTY LTD

Purchaser Name: Jody Thompson

Site Address: 1046 Ulan Rd Budgee Budgee NSW 2850 Australia

Drawing # TMUD223024 - 11 Print Date:  29/11/2022

Purlin and Girt Plan

NOT TO SCALE

Page 3 of 5
©Copyright Steelx P Pty Ltd

Seller: THE Shed Company Mudgee
Name: S & K Lincoln Pty Ltd

Phone: (02) 6372 7755

Fax:  (02) 6372 7700

Email: mudgeeadmin@theshedcompany.com..

au

ACN 632 588 562

MIE Aust. (Registered NER Structural) 5276680

QLD : RPEQ No. 24223; TAS : 185770492; VIC : PE0003848; N.T : 303557ES;
Practising Professional Structural & Civil Engineers

Signature: John Ronaldson

Date: 29/11/22




LEFT ELEVATION

Notes:
Brackets are not shown. Refer to Specification Details
for more information. Opening members not labeled.

C20024 (PL4) C20015 (PL3) C20015 (PL2) C20015 (PL1) /
| | A4
o i o
,2 220024 (BL4) I 220024 (BL3) Z10010 (BL3) Zj0015 (EH:./?a) 220015 (BL2) I Z20015 (BL1) g
SDL 210010 (BL3) é
DT d 220024 (BL4) 220024 (BL3) g 220015 (BL3) Z20015 (BL2) Z20015 (BL1) f T
i N T 3 3 P
[N o S & N 8 [
E = 220024 (BL4) § 220024 (BL3) 2210015§BL3) 220015 (BL2) § Z20015 (BL1) = T h
] 5 R & R R ehl
> |0 Q S Q 4 Ol &
I 220024 (BL4) 220024 (BL3) @ 220015 (BL3) Z20015 (BL2) Z20015 (BL1) j
i I 7
o o
,C\: 220024 (BL4) 220024 (BL3) 220015 (BL3) 220015 (BL2) Z20015 (BL1) E
30000
RIGHT ELEVATION
C20019 (PR1) C20019 (PR2) C20019 (PR3) C20019 (PR4)
‘{7 ‘
N~ | | 1 N~
7o) 0
e e
Z20019 (BR1) Z20019 (BR2) Z20019 (BR3) Z20019 (BR4)
=) [ F Py —_— —_ farny — | aQ
2. g 2 2 g e |z
b 8 N N N 8 Bk
L — o o =] o o - I
w8 3 2 2 3 o
- | S Z20019 (BR1) S 220019 (BR2) S 220019 (BR3) S Z20019 (BR4) 3 k o
N~ N~
7o) 0
e e
Z20019 (BR1) 220019 (BR2) 220019 (BR3) 220019 (BR4)
161 | 30000 | 161
Revision Date Initial

Purchaser Name: Jody Thompson

Site Address:

1046 Ulan Rd Budgee Budgee NSW 2850 Australia

Drawing # TMUD223024 - 11

Print Date:

29/11/2022

Purlin and Girt Plan

NOT TO SCALE

Page 4 of 5
©Copyright Steelx P Pty Ltd

Seller: THE Shed Company Mudgee
Name: S & K Lincoln Pty Ltd

Phone: (02) 6372 7755

Fax:  (02) 6372 7700

Email: mudgeeadmin@theshedcompany.com..

au

Apex Engineering Group PTY LTD
ACN 632 588 562

MIE Aust.

(Registered NER Structural) 5276680

QLD : RPEQ No. 24223; TAS : 185770492; VIC : PE0003848; N.T : 303557ES;

Practising

Signature:

Professional Structural & Civil Engineers

John Ronaldson

Date: 29/11/22




LEFT LEANTO ELEVATION

Notes:

Brackets are not shown. Refer to Specification Details
for more information. Opening members not labeled.

2XC15012 (PL4) 2XC15012 (PL3) 2XC15012 (PL2) 2XC15012 (PL1)
[ ]
[ ]
o = ) N =
[ | | | | )
Z |1X X X X Xl =z
L o o (=) o o w
=™ ™ ™ ™ ™ —
T o o o o o o
ol = = = 2l w
o ||n (72) (2 (2] n -
I I I I I
(7)) (7)) (/2] (7)) (7))
30000
Revision Date Initial

Purchaser Name: Jody Thompson

Site Address: 1046 Ulan Rd Budgee Budgee NSW 2850 Australia

Drawing # TMUD223024 - 11 Print Date:  29/11/2022

Purlin and Girt Plan

NOT TO SCALE
Page 5 of 5

©Copyright Steelx P Pty Ltd

Seller: THE Shed Company Mudgee
Name: S & K Lincoln Pty Ltd

Phone: (02) 6372 7755

Fax:  (02) 6372 7700

Email: mudgeeadmin@theshedcompany.com..

Apex Engineering Group PTY LTD
ACN 632 588 562

MIE Aust. (Registered NER Structural) 5276680
QLD : RPEQ No. 24223; TAS : 185770492; VIC : PE0003848; N.T : 303557ES;
Practising Professional Structural & Civil Engineers

Signature:

John Ronaldson

Date: 29/11/22






